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JIEAT SINE 4 OUT IN | GROSS | HDCP NET Uik JIEAE SINE 4 OUT IN | GROSS | HDCP NET 55
VI v i N 39 36 75 0.0 75.0 51 {7 | #8)Il ik 48 51 99 0.0/ 99.0
2 fL | AR AARE 39 37 76 0.0/ 76.0 52 A | EAT G 46 53 99 0.0/ 99.0
IRV RISV 39 41 80 0.0 80.0 53 AL |FEH EN 49 51 100 0.0/ 100.0
4 4 | EEH BE 39 41 80 0.0 80.0 54 A |JiUH UK 46 54 100 0.0/ 100.0
5 (7 [PPH FEg 41 40 81 0.0/ 81.0 55 AL |f 10 KA 52 49 101 0.0[101.0
6 {r |FISF B 41 40 81 0.0/ 81.0 56 fir | F il HEB 51 50 101 0.0]101.0
77 | HIE R 41 40 81 0.0 81.0 57 AL | KN E5L 50 51 101 0.0/101.0
8 i | #AT 40 41 81 0.0/ 81.0 58 L | /AR FREF 50 51 101 0.0[101.0
9 f7 |BLH KA 44 39 83 0.0/ 83.0 59 i | HiAZ FEIE 49 52 101 0.0/101.0
10 fif |JEAR =3¢ 43 40 83 0.0/ 83.0 60 Ar | hA FMHE 44 57 101 0.0/101.0
117 | B AE 43 40 83 0.0/ 83.0 61 {7 | = ik 52 50 102 0.0]102.0
12 fr | K 39 44 83 0.0/ 83.0 62 fi | FAT #Eh 55 48 103 0.0]103.0
13 {7 |8 B 46 38 84 0.0/ 84.0 63 fir | F#E E%H 49 54 103 0.0/103.0
14 {7 | K8 B 43 41 84 0.0/ 84.0 64 {r [ )10 49 54 103 0.0]103.0
15 ff |84 B —88 42 42 84 0.0 84.0 65 A |/ JEE 56 48 104 0.0/ 104.0
16 {7 |§5H =2 KEB 43 42 85 0.0/ 85.0 66 N | T8 KA 56 48 104 0.0(104.0
17 A7 | &G 1E 42 43 85 0.0 85.0 67 fL | A F— 54 50 104 0.0(104.0
18 fif |HiTH 3 41 44 85 0.0 85.0 68 N\ | fafm B 50 55 105 0.0/ 105.0
19 47 | &7 Fid 44 42 86 0.0 86.0 69 {7 | BF R BsFI 56 50 106 0.0/ 106.0
20 7 [JEUH A 44 42 86 0.0/ 86.0 70 {7 | By 8 53 53 106 0.0/ 106.0
21 {7 | BNFH HEZ 42 45 87 0.0 87.0 71 47 | B E#E 61 46 107 0.0]107.0
22 fr [[UAR HEih 46 42 88 0.0/ 88.0 72 7 |BH EE 55 52 107 0.0/ 107.0
23 i [BR R 45 43 88 0.0/ 88.0 73 A7 [/NH BB 54 53 107 0.0[107.0
24 fir |/NAK IEBH 45 43 88 0.0 88.0 74 0L | B KE 56 52 108 0.0[108.0
25 fir | Loy STA 42 46 88 0.0/ 88.0 75 AL | BB RIAT 55 53 108 0.0[108.0
26 7 | HE 8 47 42 89 0.0/ 89.0 76 {7 | SR 54 54 108 0.0]108.0
27 {7 | BRZE T 46 43 89 0.0/ 89.0 PR A A i 52 56 108 0.0]108.0
28 i [T H— 45 44 89 0.0/ 89.0 78 fir | /AR I 58 51 109 0.0/109.0
29 fif |KF b —F 44 46 90 0.0] 90.0 79 N7 [ LR HEJA 55 54 109 0.0]109.0
30 f [ A 43 47 90 0.0/ 90.0 80 fr | /N B 53 56 109 0.0/109.0
31 47 | P g E] 41 49 90 0.0| 90.0 81 fir | e # 52 57 109 0.0[109.0
32 I | /hAR &EE 50 41 91 0.0| 91.0 82 {if [ M EA 58 52 110 0.0[110.0
33 A7 [ | A 49 42 91 0.0| 91.0 83 {r [ i —# 54 56 110 0.0[110.0
34 I | =A 46 45 91 0.0] 91.0 84 {7 | {2 Wl 53 57 110 0.0[110.0
35 L [/hFE KK 49 43 92 0.0/ 92.0 85 {r |[fA #H_— 56 55 111 0.0/ 111.0
36 {7 | H P2 45 47 92 0.0/ 92.0 86 7 [INH st 55 56 111 0.0/ 111.0
37 A2 | MM 3% 48 45 93 0.0/ 93.0 87 fir [ & B 55 61 116 0.0[/116.0
38 {7 |[HRE =k 46 47 93 0.0/ 93.0 88 fr | KiF fdish 60 57 117 0.0[117.0
39 fr [Si)ll fBER 51 43 94 0.0 94.0 89 fir |iEAK HEHL 57 60 117 0.0[117.0
40 {7 | f&7T BEW] 49 45 94 0.0/ 94.0 90 fif | K B 53 64 117 0.0[117.0
41 47 |BEH B 43 51 94 0.0 94.0 91 {7 |‘FE 5E 63 57 120 0.0[120.0
42 7 | #AH 5 50 45 95 0.0| 95.0 92 { [ IEA 62 60 122 0.0]122.0
43 fir | Bk afd 48 47 95 0.0/ 95.0 93 fir | HH fH3C 65 59 124 0.0[124.0
44 7 | EA 48 47 95 0.0/ 95.0 94 AL |6 AN 78 90 168 0.0|168.0
45 {7 [N R AF A 50 46 96 0.0/ 96.0
46 A7 | AT K 47 49 96 0.0/ 96.0
47 i | f@H FnE 49 48 97 0.0/ 97.0
48 fir | FH & 48 49 97 0.0| 97.0
49 {7 |7 AR 52 46 98 0.0/ 98.0
50 fir [#adf (& =] 50 48 98 0.0| 98.0
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